Finding Volumes of Y
Solids Using the Shell
Method

b b
Vertical Shell: Volume = [ 27+(Shell Radius)+(Shell Height) dx = [ 27+ f (x)dx @

d d
Horizontal Shell: Volume = IZﬂ-(SheII Radius )+(Shell Height ) dy = IZ;:-y-f (y)dy D

1. The region bounded by the curve y = Jx, the x—axis and the line x=4 is revolved about

the line y —axis to generate a solid. Find the volume.
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2. The region bounded by the curve y = JX, the x—axis and the line x =4 is revolved about
the x —axis to generate a solid. Find the volume.
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3. The region in the first quadrant bounded by the parabola y = x?, they—axis, and the line y =4 is revolved about
. _ . . - z
the line, x = 2 to generate a solid. Find the volume. y_ Z

vy
(4.4)
b
f*ﬁx $Cx) d x \nc\3\r\+ ?Lﬂ
« [ \& h . [
mdws + .
‘ E Rac\ms—‘l—x
\Yaﬂ’(; -0 Y-x=)d x q N
F—axTox +x3
WE-2x" <4 x 45
= 43 3 z 1
.l‘\ij x 3= x-S dx = 2T X_AC"‘ —2X 9% 49)(}
X =1 o

W _ 1Lk _ g-n - el-1k -
& {( S ¢ (O)] :w[l s«an.]

3

2T E _‘;-_]= W ch_—xy;}-_m..z?q - /e-_L%LF





